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�� :DZDQFDUD� NHSDGD� .HSDOD� &DEDQJ� %07� 8*7� 1XVDQWDUD�

&DEDQJ�%DQMDUPDVLQ

D� $SDNDK� NDU\DZDQ� %07� 8*7� 1XVDQWDUD� &DEDQJ� %DQMDUPDVLQ�

VXGDK� VHSHQXKQ\D� PHQJHWDKXL� GDQ� PHQHUDSNDQ� SULQVLS�SULQVLS�

V\DULDK� GDODP� NHJLDWDQ� WUDQVDNVL� \DQJ� GLODNXNDQ� GL� %07� 8*7�

1XVDQWDUD�&DEDQJ�%DQMDUPDVLQ"

E� +DO� DSD� VDMD� \DQJ� GLODNXNDQ� ROHK� NDU\DZDQ� GDODP PHQHUDSNDQ�

SULQVLS�SULQVLS�V\DULDK�SDGD�EXGD\D�NHUMD�GL�%07�8*7�1XVDQWDUD�

&DEDQJ�%DQMDUPDVLQ"

F� $SD� \DQJ� PHODWDU� EHODNDQJL� SHQHUDSDQ� SULQVLS�SULQVLS� V\DULDK�

GDODP�EXGD\D�NHUMD�GL�%07�8*7�1XVDQWDUD�&DEDQJ�%DQMDUPDVLQ"

G� %DJDLPDQD� %07� 8*7� 1XVDQWDUD� &DEDQJ� %DQMDUPDVLQ� GDODP�

PHQHUDSNDQ� SULQVLS�SULQVLS� V\DULDK� GDODP� EXGD\D� NHUMD� SDGD�

SULQVLS�NHVDWXDQ�DWDX�NHWDXKLGDQ"
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H� %DJDLPDQD� %07� 8*7� 1XVDQWDUD� &DEDQJ� %DQMDUPDVLQ� GDODP�

PHQHUDSNDQ� SULQVLS�SULQVLS� V\DULDK� GDODP� EXGD\D� NHUMD� SDGD�

SULQVLS�NHVHLPEDQJDQ"

I� %DJDLPDQD� %07� 8*7� 1XVDQWDUD� &DEDQJ� %DQMDUPDVLQ� GDODP�

PHQHUDSNDQ� SULQVLS�SULQVLS� V\DULDK� GDODP� EXGD\D� NHUMD� SDGD�

SULQVLS�NHKHQGDN�EHEDV"

J� %DJDLPDQD� %07� 8*7� 1XVDQWDUD� &DEDQJ� %DQMDUPDVLQ� GDODP�

PHQHUDSNDQ� SULQVLS�SULQVLS� V\DULDK� GDODP� EXGD\D� NHUMD� SDGD�

SULQVLS�WDQJJXQJ�MDZDE"

K� %DJDLPDQD� %07� 8*7� 1XVDQWDUD� &DEDQJ� %DQMDUPDVLQ� GDODP�

PHQHUDSNDQ� SULQVLS�SULQVLS� V\DULDK� GDODP� EXGD\D� NHUMD� SDGD�

SULQVLS�NHEHQDUDQ"

L� %DJDLPDQD� GDPSDN� GHQJDQ� DGDQ\D� SHQHUDSDQ� SULQVLS�SULQVLS�

V\DULDK� GDODP� EXGD\D� NHUMD� GL� %07� 8*7� 1XVDQWDUD� &DEDQJ�

%DQMDUPDVLQ"

M� $SDNDK� DGD� SHQGDPSLQJDQ� DWDX� SHPELQDDQ� WHUKDGDS� DQJJRWD�

SHPELD\DDQ� \DQJ� GLODNXNDQ� ROHK� %07� 8*7� 1XVDQWDUD� &DEDQJ�

%DQMDUPDVLQ"

�� :DZDQFDUD� NHSDGD� NDU\DZDQ� %07� 8*7� 1XVDQWDUD� &DEDQJ�

%DQMDUPDVLQ

D� $SDNDK�SDUD�NDU\DZDQ�GL�%07�8*7�1XVDQWDUD�VXGDK�EHQDU�EHQDU�

PHQHUDSNDQ�SULQVLS�V\DULDK�GDODP�EXGD\D�NHUMDQ\D"
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